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Write your Question Paper g\ o 59/088/2, Set— on the Answer-Book.
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(@)  The Question Pap English/Hindi'medium only. However, if you wish, you can answer in any
one of the langu sted below :
English, Hindi du Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, K i, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are red to indicate the language you have chosen to answer in the box provided in the
Answer-Book.
(b)  If you choose to write-the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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[Maximum Marks : 100

g ¢ 3 gue] [quiis : 100
Note : (i)  All questions are compulsory.
(1)) Marks allotted to each question are indicated against it.
(iii)) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Select the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.
Mot ¢ (@) |l we & SR AT
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1 Growth of resourq@(z‘lresults in...... 1
Q

(A) downwa&@lovement along production possibility curve.

(B) rightward shift of production possibility curve.

(C) upward movement along production possibility curve.

(D) leftward shift of production possibility curve.

(A) THEA GHEAT 9% GG @ SR o ¥ |
(B) SdEA H@9EET 9% Il R Raws S 'O
(C) SR el g% HIT @l 8T o & |
(D) SdEA HHEAT 9% S R fawe Wl § |
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2  An economy’s gross domestic product at factor cost is Rs. 8,000 crores 1
and its gross national product at factor cost is Rs. 7,000 crores. Then
net factor income to abroad is .....
(A) Rs. 15,000 crores (B) Rs. 1,000 crore
(C) —Rs. 1,000 crores (D) None of the above
T NIRRT B HET AN I Ghd o Sdg &, 8,000 HIS T SR @I
A W GhA T8 SdR B 7,000 HUs 7 | fagen @ faw @ew o %

(A) ®. 15,000 ®= (B) %. 1,000 &z
(C) -%. 1,000 &z (D) Sulad & 9 B3 el
3 Primary deficit is equal to ..... 1

(A) Revenue deficit + Interest payment
(B) Fiscal deficit + Interest payment
(C) Borrowings — Interest payment

(D) Total expenditure — Interest payment
WA "Rl IET BT § ..

(A) T °91e + A AE 6

(B) UM =R + &9 YIaE &

(C) * — & YAE &

(D) Fa@ =G — AN FAE &

4  Which of the following {$-not.a flow ? 1
(A) Expenditure g\\ (B) Money supply
(C) National inc (D) Sales
Prefofa & & @%—w v T ¥ 7
A) =@ O (B) ga amgfq
(C) T e (D) fat

5  When a firm-produces 10 units of output, its average fixed cost is Rs. 6. 1
Its total variable cost of producing 4 units is Rs. 60. Its average cost of
producing 4 units is ....

(A) Rs. 40 (B) Rs. 30
(C) Rs. 20 (D) Rs. 10
T BH B ST @ 10 HEdl o offed e @ra 6. 6 ¥ | 4 3@ Swred
B B FA gREdl aFd . 60 ¥ | 4 THE IS B Db ST A § .

(A) ®. 40 (B) %. 30
(C) . 20 (D) %. 10
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6  The value that divides the series into two parts is called ....... 1

(A) Median (B) Mode
(C) Quartile Deviation (D) Arithmetic average
gl & 3 AF § qed I T B TS BEA & ...
(A) feest (B) wga®
(C) agd= (D) sierirea Hred
7  Marginal utility can never be ........ 1
(A) zero

(B) equal to total utility

(C) greater than total utility

(D) negative

T SUAIREr

(A) g & & Fahal |

(B) d IuAIfar & SX@X € B "dar |
(C) @ SUATaT & aifdes Tf =& "adl |
(D) =T &l & gehdl |

8 Demand curve of a firm is perfectly elastic under : 1
(A) Perfect competition (B)+ Monopoly
(C) Oligopoly (D)" Monopolistic competition
TH WH HT AT 9 QUIGAT_@EE e
(A)@qﬁﬁﬁmﬁ\@'\\\ B) T &
(C)W&lﬂo‘l’(ﬁ&§~ (D) TwleREs yhEfar &
P
9  Value of 1nve@nt multiplier is inversely related to ...... 1
(A) MPC @ (B) MPS
(C) APC (D) APS
g U iR Tefvifad & @ fpdent fqudla w7y 81T § ...
(A) i ST aa % B) i T9d g &
(C) ofted S ygfd & (D) sfed 9o wIid &
10 The value of coefficient of correlation varies from ....... 1
(A) 0 to 1 B) 1 to -1
(C) 0 to -1 (D) 1 to infinity
GedeY Tlich Bl oI ......
(A) 0¥ 1 d% & 9&ar & | (B) 19 -1 d% & qkal & |
(C) 0§ -1 d% & Thal & | (D) 1§ 3 d% & dhal & |
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11  Explain the meaning of : 3
(a) Budget line and (b) Budget set.

(a1) ol T@r R @) 9 ¥ & N4 HIRU |

12 Define "investment multiplier". What can be its maximum and 3
minimum value ?

“Tragr o’ @ ufwrer ARG | gEeT Sifean o AW e T B Hahdl © 7

13 Give the meaning of real and nominal gross domestic product. 3

Irfas iR s dba oXq SAE & o SRy |

14 State any three characteristics of index numbers. 3

TaHBl Bl B3 dF favae IaEe |

15 Explain "perfect knowledge" feature of perfect competition. 3
o gfEitar & ‘qu w7 fagvar wwsEn |

16 What is meant by absolute and relative measures of dispersion ? 3

Fafepeer & e ok 9me A9 & ot . gaEyu. |

17 Explain the problem of ‘What to produce’. 3
F IART B B W&@C@I@;’ |
N9

18 Explain the me of excess supply with the help of a schedule. 3
ek TieTehl ?%Q@%a?n Y emyiq onfuey @1 ot wWIET |

19 State the difference between micro economics and macro economics. 3

fte srefome s THfte demey & S <X SRy |

20 Describe the measure of value function of money. 3

5T % I b1 AU B B GUA B |

21  When the price of a commodity falls by 10 percent, its demand rises 4
from 200 units to 220 units. Calculate its price elasticity of demand.
9 UH 9% B HMd 10 gfaed medr §, @ 3@l At 200 3HE ¥ geb 220
THE B W § | 3HH AT B A Bl AT B |

0]
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22

23

24

25

26

Describe the functions of Central Bank as a banker to the Government. 4

BN & 9h & &9 § HslT g% & HEAl B AT BT |

Complete the following table : 4
Preffaa atfe &1 Q@ BT
Output Total Cost (Rs.) Marginal Cost (Rs.) Average Cost (Rs.)
(Units)
IaEA (3.) Fa @rE (%) < @ra (8.) A ara (%.)
1 50 e s
2 e 40 -
3 e 435 -
4 84— s
Calculate net value added at market price : 4
Rs. in 000 crores
(1) Change in StOCK ......cccceeevcuieeeciieeeiiieeiieene 50
(i) Value of output ....cccccoceevveriiriiiiiienieee, 3000
(111) Depreciation ...........coeecveeeeeveeeniuveesnneeenssfin it 60
(iv) Intermediate consumption.................L..... 1500

(v) Indirect taxes
(V1) SubSIdies ....ceeeveeeeiiisoiennrreeeeereeeienaeeee e

Explain the different phases of law of variable proportions. 4

uftedt ogural & fem & faf axon @ s #ifTe |

Distinguish between direct tax and indirect tax. Give an example of each. 4

Jg ol el B H ¥E BT | YAH Bl Uk Iae9 Sl |

[

59/0SS/2-318-C | 6 ‘Elgﬁ"fl [ Contd...

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

27 State whether the following statements are true or false. Give reasons 6
for your answer :

(i) Total product will be constant when marginal product is constant.

(1)) As output increases, the difference between total cost and total variable
cost also increases.

(ii1) When marginal product rises average product also rises.

garzu, FHEfafed $a9 @81 € a1 T | 31U IAX & [ HRO Y

(i) 9 99 SR RO g1 § @ P Sde | Rex s

(ii) SORT & T4 W Fa aFG S P UNEdl AMd B X W T8
ST §

(i) o¥ Mg SR gedl & df ofEd SdE I dedl & |

28 Calculate gross national product at factor cost. 6
(Rs. in 000 crores)

(1) INEEIEST..eeiiiiiiieeeciiee e e e s 600
(i1)) Compensation of Employees.......c.cceevvveervieenvraeenne. 5000
(111) RNt ceeeiiiiiieeee e e b 400
(iv) Net factor income from abroad ..............ceceenneeee. =50
(V)  Net indirect taxes .....ccoevveeeeeiuieeeeeeis S tinsieeeeeeineeeenns 150
(VD) Profit....oooicieeeeee s Tt e 1000
(vii) Net exports ............ ® .............................................. -200
(viii) Employee’s con@%utlon to social security ............ 1000
(ix) Deprematwn@ ......................................................... 200
HEF A X @v ALY ITE B B BT |

@ (®. 000 ®I)
(1) STOT ettt i Bttt 600
(ii) AT B ATCHB ..o, 5000
(ii1) TR oot 400
(iv) fadst & faed W8T SR oo, — 50
(V) THa@ STIE Borviirririoririeeeeieeeeeieese e eneeneenns 150
(VI) BT Lottt 1000
(vil) et SR, —-200
(viii) HHEIREl &1 AHITe GRAaT & AREN .o, 1000
(iX) TETEIE (TR BT oo 200
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30

31

32
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Explain equilibrium level of income based on aggregate demand 6
and aggregate supply. Use diagram.

Y A SR WY i WX STETG S 3 & ged aHeEy |
[@es & SYAM HIg |

For Blind Candidates in lieu of Q. No. 29
Faq fedm wdeatial & fou geT " 29 % WH W

Explain two alternative approaches of determining equilibrium level of income.

UL M Bl Ggad MaRer & & a1 ddfs (9l a97smsy |

Calculate arithmetic average by step deviation method. 6
e faem fafy grr sfevivrda @red @l giieed Sifg |

Marks Number of Students

0 - 10 10

10 — 20 12

20 — 30 12

30 — 40 6

Explain any three @emes of coefficient of correlation. 6

Wawaﬁ\ [ A fagidreT @l e Hitg |

Explain the effect of the following on the demand of a commodity. 6
(a) Increase in income of the buyer

(b) Rise in price of substitute good.

frfafad & Ts 9% & A 9T U89 aid U9 @ Fredl Hieg

(37) ham @I o H Jhy

(@) vfremd aig @ HEd H gie

i
=

[ 42,0003 |
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